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CONTROL THEORY
futhe omg - i =) [StTtrmaw 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
A () IYF I IHAEE 8, 9 7 G frl gid & IR I |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i)  ¥eAF Y99 & G Y77 B FHEIR 0 G §A FHrd |
Solve all parts of a question consecutively together.
(iii) ¥ % 597 %1 79 98 8 IR Fford |
Start each question on fresh page.
(iv) I 91371 B =R &4 F1 1 7 3 g s A= 8
Only English version is valid in case of difference in both the languages.
1 oei =1 wmgmT
Explain the following terms :
(i) e fergm 1 forede forg
Breakaway point of root locus
(i) e 3u@
~ Gain Margin
(iii) 3T B
Transfer function
(iv) Eehd Y48 UTH
Signal Flow graph
V) T fag 1 s

 Centroid of root locus (2x5)
F-1 @ wehia 9 %1 3w G 34 il |
Find the transfer function of system shown in fig. 1. (12)
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Find the transfer function of Fig.2 by block diagram Sc_chllction technique. (12)
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4. e R P da < st axfie Freferfed 2 -
The characteristic equation for a feedback control system is given by :
st+553+5s2+4s+k=0
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By means of Routh array criterion, determine the range of value of k for the system to
be stable. (12)
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By using the root locus technique, draw the graph of open loop transfer function of a

feedback system given below. Also analyse the calculation by using the various
formulas. (12)
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s(s+1)(s+3)
6. ya e Wi < faftr i s afed s |
Explain the procedure to draw polar plot with example. (12)

7. frefeRea 3o Ger H1 91 ARG T :
Draw the bode plot of the following transfer function : (12)
G(s)= B Atk
s(s+1)(s+2)
g. T v wftm feoaforat frfie : (fpedi w)
Write the short notes on the following : (any two)
() duaE.
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